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Instructions: 1) Each question carries 2 Marks.

2) Answers should be written with Pen. :

3) Cancelled and overwritten answerswill not be considered.

4) Answer should be written in box provided in front of each question.
5) Write the proper unit of measurement, where necessary.

gEAr 1) UeIeR UgATe 2 [T R4,

2) S ymEsfegrEt.

3) wErsae T iaeel ST faemr Seaeit STToT ATatd.
4) ucieruvIge feoiearsiene Ia s} fegTei.

5) sSavden SO Y AT Usheh fagTd.

Name of thestudent: 1)
faemeater e : 2)

(In Block Letters)

Name of the school :
ymeaara: (InBlock Letters):

Code No. of the Group : v Mobile No. :

METATHichideh chHich FHUTES ShHieh :
1. If 5 - then Xty ]
X _ 6 27 - 14
W.2g=7 . W Tyt 15 =1
2. If (a - b) is 6 more than ( ¢ + d) and (a + b) is 3 less than (¢ - d), then (a-¢c)=?
ST (a - b) NFAT (c+d) WT 67 ST Mg ST (a+ b) =t fhad
(c-d)TeT 3 T FHH 3Me, W (a-c)=2
3. The L.C.M. of two numbers is 48. The numbers are in the ratio 2 : 3.
Find the sum of two numbers.
S ST o Wi, 48 3. ST A A O 2 : 3 3T W/
= g ST fadr 318 ?
4. Find the least number which divided by each of 5, 6, 7, 8 leaves a remainder

3 each time, but when divided by 9 leaves no remainder.
37T IO AT oTeH ST 5, 6, 7, 8 AU Th AT 9T
ST ST 3 3T, TOT 9 7 INTST STTAT ATl 3L el 2
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8 years ago Rohit was 4 times as oid as his son. After 8 years,

Rohit will be twice as old as his son. What is Rohit’s present age ?°

Afea=r 8 Fuiqdl a9 =T Jol=aT Ades=Al Jar=al IRUS Bid.
g Ut Afed= a9 == GaT=a JAT=A1 U BeeT. o) Uteds 3o 99 fdl 2

The trader marked the price of his commodity so as to get a profit of 25% .
He allowed discount of 16% on the marked price. What is the actual profit percent ?

U FEG=1 DAt fmrd ged fhAdiat 25% TH B3 bt d

B AT 16% g2 oo, T8 TomRa &l 290 % B8 2
Two pipes A and B can fill a tank in 6 hours and 4 hours respectively. If they are opened
on alternate hours, and if pipe A is opened first, in how many hours the tank will be full ?

‘ST M7 T AT S AST T I[N U RUATT STIHH 6 AT ST

4 T AT . SR T A8 ST TIeidd Uohd iy 9 oael J
‘37 B A5 AT & el AT of I IO oA Rl arg AT 2

If 22X + 252 _4 2} =0, thenx =72
st 22X + 2% 4 2% =0, W x=2

In a three digit number, the digits are increasing by 2 from left to right. If the number is
divided by the sum of the digits, the quotient is 15. Find the number.

Tl I STl HEATHST 3 STeiehg ISMEIhs 2 7 aled ST

T G&ISAT, T AT SThr=aT I<Si Wl 37T W 15 3.

TT A TAT T

Observe the adjoining figure and

15cm.

find the area of trapezium ABCD : B

feoeaT 3T FOeoT e
TUeE T ABCD 3 85% FET.

\"c’@.

Al

Two times the measure of an interior angle of a regular polygon is equal to seven times

the measure of its exterior angle. Find the number of sides of the polygoh.

TH FHA TgYSIHATT TR S AT TR

7 T3 TAS 35, T T TgYSarar fodl &S] ST ?
Find the next number in the series : v

MR il A

Zs 2 919, 37,



13.

14.

15.

16:

17.

18.

19.

In the given figure, BD is a diameter of a circle. A

If m£DBC = 58°, Calculate m ZBEC. \
feoieaT 3Tghdrd BD & dqesrel SATE 31R.
ST m£DBC =58°, & mZBEC=97 B c

E

Four numbers A, B, C, D are in the ratio 2 : 3 : 4 : 5. If the difference between the squares

of C and B is 448, then find the value of the largest number among A, B, C, D.

A,B,C,D®T I T&AT 2:3:4:597 THONT 37ed.
I C SNMOT B 87 TeAi=a1 auidiel Wi 448 3T,

T A, B, C, D ¥ wafq Arear ST fFaa fad el@er?

The ratio of the prices of two articles is 4 : 3. When the price of the first article is increased by

10% and that of the second by Rs. 250, the ratio becomes 11 : 10.

What were the original prices ?
S FEET A UK 4 : 3 3T, Uieed St e 10% S7fr

U aEr AT T, 250 T aefae T =i Yo 11 : 10 3.

T AT FE=AT Yoo fehAdl fondt sradiar 2

In the given diagram, SP | TR,
mZSPQ = 25° and m ZTRU = 80°

then what is m£WQR ?

feerean smgea SP || TR,
mZ£SPQ =25" 3T mLTRU=80° »— R TEmg
T mLWQR =2

What is the number of largest possible square tiles, that can be used to

cover the rectangular floor of length 140 m and breadth 130m. ?

TehT ST SITH-ET el 140 7. § BT 130 7). 3T, 9€ o7 SIH-e]
TUITOT STehdier ST9T SRR ST S heal=aT SEThdT fohdl BT AN 2

Find the value of : / 1.45 x 0.065

The numbers A, Band C are suchthatA:B=8:9, B:C=3:4.

IfA=408 thenC= ?

ST A, B STIOr C 37 T3&AT 3797 3Tt f A:B=8:9,
B:C=3:4 3MUIST A=408 T C= ?
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21.

22.

23,

24.

23,

Find the factors of : 125)(2 -40x - 48 J
IE%@I (l?ila TId TrEl.

In the given parallelogram ABCD, AB = -;— BC.
What is the measure of ZBEC A D
if the angle bisectors of £ZB and £C
meetat E. A-E-D.

e TS T AB = o BC
/B F£C Y SIS E 7 .

A-E-D. W £BEC =?

The perimeter of a semicircle is 18cm.

Find the area of that semicircle. ( T = 2.—72— ) | \ - ‘

@aﬁaﬁa@qﬁiﬁﬁrw@ﬂﬂ%. |
T T I AT6es Bal. (T =272)

If 32+ 1=2a,find the Value of a+ a_lz_ \

ST al+1=2a, qT al+ = = foAa Fer.

Simple interest on certain principal for 3 years at 8% p.a. is halfthe compound interest
onRs. 4000 for 2 years at 10% p.a. Find the principal.

@Wﬁﬁ%@eﬁamz.@r.saﬂ%gﬂﬁmm \ ‘
e 2 aTd T A I, 10 T JaEdie €. 4000 FA FHATE

Of the four numbers, whose average is. 100, first number is one fourth of the sum of the

remaining three numbers, find the first number.

I eI SO 100 3R, w@avf%ﬁmé’ra-{éwéﬁ L \
TR AT - T2 ST, T ufect F&T HO 2
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